
12 - 5 = 7

A dog has 12 bones. He ate 5 of 
them. How many bones were left?

5 12?
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5 + 7 = 12

A dog ate 5 bones for breakfast and then he 
ate some more for dinner. By the end of the 
day he’d eaten 12 bones. How many bones did 
he eat for dinner?

? 125
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7 + 5 = 12

A dog found 7 bones on Monday and found 
another 5 bones on Tuesday. How many 
bones did he find in all?

5 ?7
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12 - 7 = 5

A dog found 12 bones on Monday and 7 
bones Tuesday. How many more bones did 
he find on Monday than on Tuesday?
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12

7 ?


